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Analysis and Study on Parallelizability of Parallel Test Task

XU Ming, HU Lei-gang, ZHOU Yue-wen
(Automatic Test Lab, Engineering Institute, Air Force Engineering College, Xi’an 710038)

Abstract This paper studies the attribute of test sequence inherent in the parallel test, and proposes the parallelizability of test sequence. The
parallelism solves the problem that the difference of test efficiency improvements in parallel test can not be explained. Also this criterion can guide
the engineering through the selection of instruments resource in the Automatic Test System(ATS). Experimental result shows that the parallelizability
is the quality inherent in the test sequence, and the conception of parallelism is valid.
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A B C D Is
T1 0 1 0 0 19
T2 1 0 0 0 25
T3 1 0 0 0 45
T4 1 1 0 1 100
T5 0 1 0 1 43
T6 1 1 0 1 136
T7 0 1 0 1 39
T8 1 1 1 1 81
T9 1 1 1 1 9
T10 1 0 0 0 29
T1l 0 1 1 1 145
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Tl 0 1 1 0 30
T2 1 0 0 0 32
T3 1 0 0 0 37
T4 1 0 1 1 99
T5 0 1 0 1 39
T6 1 1 0 1 140
T7 0 1 0 1 59
T8 1 1 1 1 82
T9 1 1 0 1 99
T10 1 0 1 0 25
T11 0 1 1 1 149
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